

David Preiss

Gaussian measures and the density theorem

Commentationes Mathematicae Universitatis Carolinae, Vol. 22 (1981), No. 1, 181--193

Persistent URL: <http://dml.cz/dmlcz/106063>

Terms of use:

© Charles University in Prague, Faculty of Mathematics and Physics, 1981

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

GAUSSIAN MEASURES AND THE DENSITY THEOREM
D. PREISS

Abstract: It is shown that there is a Gaussian probability measure γ in a separable Hilbert space H and a Borel set $M \subset H$ with $\gamma(M) < 1$ such that

$$\lim_{r \rightarrow 0_+} \frac{\gamma(B(x,r) \cap M)}{\gamma(B(x,r))} = 1$$

almost everywhere.

Key words: Gaussian measures, Density Theorem.

Classification: 28A15, 28C20

If μ is an arbitrary locally finite Borel measure in a finitely dimensional Banach space B then the following form of the Density Theorem holds. Whenever $M \subset B$ is a Borel set, then

$$\lim_{r \rightarrow 0_+} \frac{\mu(B(x,r) \cap M)}{\mu(B(x,r))} = \chi_M(x) \quad \mu - \text{a.e.}$$

(See e.g. [B],[M],[F, p. 147-150].) If the assumption of finite dimensionality is dropped, the situation becomes different. It was noted in [P1] that the Vitali Theorem need not hold if B is a separable Hilbert space and μ is a Gaussian measure. In [P2] it was shown that there is a probability measure μ in a separable Hilbert space and a set $M \subset H$ with $\mu(M) < 1$ such that

$$\lim_{r \rightarrow 0_+} \frac{\mu(B(x,r) \cap M)}{\mu(B(x,r))} = 1 \quad \mu - \text{a.e.}$$

The method used in this example can be generalized to other spa-

ces. This generalization shows that the validity of the Density Theorem for all finite Borel measures in a complete separable metric space is equivalent to some notion of finite dimensionality of the space. (This result is now prepared for publication.) These results, however, do not say anything about the question of validity of the Density Theorem for Gaussian measures. Here we shall fill this gap by proving the following result.

Theorem. There is a Gaussian probability measure γ in a separable Hilbert space H and a Borel set $M \subset H$ with $\gamma(M) < 1$ such that

$$\lim_{r \rightarrow 0_+} \frac{\gamma(B(x,r) \cap M)}{\gamma(B(x,r))} = 1 \quad \gamma - \text{almost everywhere.}$$

($B(x,r)$ denotes the ball with center x and radius r .)

Note that this implies that the Density Theorem for Gaussian measures in a Hilbert space does not hold even in the sense of Mattila. (See [MA] where general criteria for the validity of generalized Differentiation Theorems are given.)

Proof of the theorem. We shall use the following notation:

\mathbb{R} denotes the real line,
 if $x \in \mathbb{R}^n$ then $|x|$ denotes the Euclidean norm of x ,
 $K_n(x,r)$ denotes the ball with center x and radius r ,
 the Lebesgue measure and the k -dimensional Hausdorff measure in \mathbb{R}^n are denoted by \mathcal{L}^n and \mathcal{H}^k , respectively.

γ_n is the Gaussian measure in \mathbb{R}^n defined by

$$\gamma_n(A) = (2\pi)^{-\frac{n}{2}} \int_A e^{-\frac{1}{2}|x|^2} d\mathcal{L}^n(x).$$

Before we start with the construction, we shall prove some estimates of measures of balls.

First we deduce a simple estimate of integrals of logarithmically concave functions.

(1) If f is a positive function on $\langle t_0, t_2 \rangle \subset \mathbb{R}$, $t_1 \in \langle t_0, t_2 \rangle$ and if $\log f$ is concave on $\langle t_0, t_2 \rangle$ and $f(t_1) < f(t_0)$ then

$$\int_{t_1}^{t_2} f(t) dt \leq \left(\frac{f(t_0)}{f(t_1)} - 1 \right)^{-1} \int_{t_0}^{t_1} f(t) dt.$$

Proof.

$$\log f(t) \leq \log f(t_0) + \frac{t - t_0}{t_1 - t_0} \log \frac{f(t_1)}{f(t_0)} \text{ for } t \in (t_1, t_2),$$

$$\log f(t) \geq \log f(t_0) + \frac{t - t_0}{t_1 - t_0} \log \frac{f(t_1)}{f(t_0)} \text{ for } t \in (t_0, t_1),$$

hence

$$\begin{aligned} & \left(\int_{t_1}^{t_2} f(t) dt \right) \left(\int_{t_0}^{t_1} f(t) dt \right)^{-1} \leq \\ & \leq \left(\int_{t_1}^{t_2} \left(\frac{f(t_1)}{f(t_0)} \right)^{\frac{t-t_0}{t_1-t_0}} dt \right) \left(\int_{t_0}^{t_1} \left(\frac{f(t_1)}{f(t_0)} \right)^{\frac{t-t_0}{t_1-t_0}} dt \right)^{-1} = \left(\frac{f(t_0)}{f(t_1)} - 1 \right)^{-1}. \end{aligned}$$

Next we prove the main estimate of the measure of an intersection of a ball with a set of small measure.

(2) If $a \in (0, \frac{1}{2})$ then there are $s \in (0, 1)$ and $c_1 > 0$ possessing the following property:

Whenever $r \in \langle a, \frac{1}{2} \rangle$ and $x \in \mathbb{R}^n$ with $(1 - c_1)n^{\frac{1}{2}} \leq |x| \leq (1 + c_1)n^{\frac{1}{2}}$ then

$$\gamma_n(K_n(x, rn^{\frac{1}{2}}) \setminus K_n(0, sn^{\frac{1}{2}})) \leq (e^{c_1 n} - 1)^{-1} \gamma_n(K_n(x, rn^{\frac{1}{2}})).$$

Proof. There are $\varepsilon > 0$, $\delta' < 1$ and $s_0, s \in (1 - a, 1)$, $s_0 < s$, such that

$$0 < \frac{2(c^2 + r^2) - (s^2 + s_0^2)}{4c^2r^2 - (c^2 + r^2 - s_0^2)^2} \leq \delta' \text{ whenever } c \in (1 - \varepsilon, 1 + \varepsilon)$$

and $r \in (a, \frac{1}{2})$. Choose $c_1 \in (0, \frac{1}{2})$ such that $c_1 + 1 - a < s_0$, $c_1 < \varepsilon$, $1 + a - c_1 > s$, $\frac{1}{2} + \frac{1}{4(1 - c_1)} < \frac{4}{5}$ and

$$\frac{5}{3} \left(e^{\frac{1}{2}n(s-s_0)(1-\delta')} - 1 \right)^{-1} \leq (e^{c_1n} - 1)^{-1} \text{ for each natural } n.$$

Since γ_n is invariant with respect to rotations it suffices to prove the assertion for $x = (0, 0, \dots, 0, cn^{\frac{1}{2}})$ where $1 - c_1 \leq c \leq 1 + c_1$. Then (see [F, Theorem 3.2.12])

$$\begin{aligned} \gamma_n(K_n(x, rn^{\frac{1}{2}}) \setminus K_n(0, sn^{\frac{1}{2}})) &= \\ &= (2\pi)^{-\frac{n}{2}} \int_{rn^{\frac{1}{2}}}^{(c+r)n^{\frac{1}{2}}} e^{-\frac{1}{2}t^2} \mathcal{L}^{n-1}(\{y \in \mathbb{R}^n; |y| = t, |y - x| \leq rn^{\frac{1}{2}}\}) dt = \\ &= \frac{1}{2}(2\pi)^{-\frac{n}{2}} \int_{rn^{\frac{1}{2}}}^{(c+r)n^{\frac{1}{2}}} e^{-\frac{1}{2}t^2} \mathcal{L}^{n-1}(\{y \in \mathbb{R}^n; |y| = t, \sum_{i=1}^{n-1} y_i^2 \leq r^2n - \\ &- \left(\frac{c^2n + r^2n - t^2}{2cn^{1/2}} \right)^2\}) dt. \end{aligned}$$

Since

$$\begin{aligned} r^2 &= r^2n - \left(\frac{c^2n + r^2n - t^2}{2cn^{1/2}} \right)^2 = \frac{(t^2 - (c-r)^2n)((c+r)^2n - t^2)}{4c^2n} \leq \\ &\leq t^2 \left(\frac{c+r}{2c} \right)^2 \leq t^2 \left(\frac{1}{2} + \frac{r}{2(1-c_1)} \right)^2 \leq \left(\frac{4}{5} t \right)^2, \text{ we have} \end{aligned}$$

$$\begin{aligned} &\frac{1}{2} \mathcal{L}^{n-1}(\{y \in \mathbb{R}^n; |y| = t, \sum_{i=1}^{n-1} y_i^2 \leq r^2\}) = \\ &= \int_{K_{n-1}(0, r)} \left(1 - \frac{\sum_{i=1}^{n-1} y_i^2}{t^2} \right)^{-1/2} d\mathcal{L}^{n-1}(y) \leq \frac{5}{3} \mathcal{L}^{n-1}(K_{n-1}(0, r)). \end{aligned}$$

Hence

$$\gamma_n(K_n(x, rn^{\frac{1}{2}}) \setminus K_n(0, sn^{\frac{1}{2}})) \leq \frac{1}{2} (2\pi)^{-\frac{n}{2}} \mathcal{L}^{n-1}(K_{n-1}(0, 1)) \int_{\frac{(c-k)m^{\frac{1}{2}}}{2}}^{\frac{(c+k)m^{\frac{1}{2}}}{2}} f(t) dt,$$

where $f(t) = e^{-\frac{1}{2}t^2} \left(r^2 n - \left(\frac{c^2 n + r^2 n - t^2}{2cn^{1/2}} \right)^2 \right)^{\frac{n-1}{2}}$ for $t \in ((c-r)n^{\frac{1}{2}}, (c+r)n^{\frac{1}{2}})$.

Since $\log f$ is concave and

$$\begin{aligned} \log \frac{f(sn^{\frac{1}{2}})}{f(s_0 n^{1/2})} &= \frac{n}{2}(s_0^2 - s^2) + \frac{n-1}{2} \log \frac{4c^2 r^2 - (c^2 + r^2 - s^2)^2}{4c^2 r^2 - (c^2 + r^2 - s_0^2)^2} \leq \\ &\leq \frac{n}{2}(s_0^2 - s^2) + \frac{n-1}{2} \frac{(c^2 + r^2 - s_0^2)^2 - (c^2 + r^2 - s^2)^2}{4c^2 r^2 - (c^2 + r^2 - s_0^2)^2} = \\ &= \frac{n}{2}(s_0^2 - s^2) + \frac{n-1}{2}(s^2 - s_0^2) \frac{2(c^2 + r^2) - (s_0^2 + s^2)}{4c^2 r^2 - (c^2 + r^2 - s_0^2)^2} \leq \\ &\leq \frac{n}{2}(s_0^2 - s^2) + \frac{n}{2}(s^2 - s_0^2) \sigma' \leq -\frac{1}{2} n(s - s_0)(1 - \sigma'), \end{aligned}$$

we may use (1) to obtain

$$\int_{\frac{(c-k)m^{\frac{1}{2}}}{2}}^{\frac{(c+k)m^{\frac{1}{2}}}{2}} f(t) dt \leq \left(e^{\frac{1}{2}n(s-s_0)(1-\sigma')} - 1 \right)^{-1} \int_{\frac{(c-k)m^{\frac{1}{2}}}{2}}^{\frac{(c+k)m^{\frac{1}{2}}}{2}} f(t) dt.$$

Hence

$$\begin{aligned} \gamma_n(K_n(x, rn^{\frac{1}{2}}) \setminus K_n(0, sn^{\frac{1}{2}})) &\leq (e^{c_1 n} - 1)^{-1} (2\pi)^{-\frac{n}{2}} \mathcal{L}^{n-1}(K_{n-1}(0, 1)) \int_{\frac{(c-k)m^{\frac{1}{2}}}{2}}^{\frac{(c+k)m^{\frac{1}{2}}}{2}} f(t) dt \leq (e^{c_1 n} - 1)^{-1} (2\pi)^{-\frac{n}{2}} \int_{\frac{(c-k)m^{\frac{1}{2}}}{2}}^{\frac{(c+k)m^{\frac{1}{2}}}{2}} e^{-\frac{1}{2}t^2} dt \\ &= \mathcal{H}^{n-1} \{ y \in \mathbb{R}^n; |y| = t, |y - x| \leq rn^{\frac{1}{2}} \} dt = \\ &= (e^{c_1 n} - 1)^{-1} \gamma_n(K_n(x, rn^{\frac{1}{2}})). \end{aligned}$$

We shall need also the following estimate of the "typical radius" of a ball.

3) If $\alpha > 0$ and $q > 1$ then there are $\omega > 0$ and $c_2 > 0$ possessing the following property:

Whenever $2 \leq n \leq m \leq qn$ are natural numbers, $\|\cdot\|$ is a norm in \mathbb{R}^m such that $\tau \|\cdot\| \geq |\cdot|$,

$$z_1 \in \mathbb{R}^n \text{ such that } \frac{1}{2} n^{\frac{1}{2}} \leq |z_1| \leq \frac{3}{2} n^{\frac{1}{2}},$$

$$z_2 \in \mathbb{R}^m \text{ such that } \frac{1}{2} m^{\frac{1}{2}} \leq |z_2| \leq \frac{3}{2} m^{\frac{1}{2}},$$

$$s \in (0, \frac{1}{2} n^{\frac{1}{2}}), \text{ and}$$

$$A_\alpha = \{(x_1, x_2) \in \mathbb{R}^n \times \mathbb{R}^m; |x_1 - z_1|^2 + \|x_2 - z_2\|^2 \leq s^2,$$

$$|x_1 - z_1| \leq \alpha s\},$$

then

$$\gamma_{n+m}(A_\omega) \leq (e^{c2^n} - 1)^{-1} \gamma_{n+m}(A_1).$$

Proof. Let $\tilde{B}(z_2, t)$ denote the ball in $(\mathbb{R}^m, \|\cdot\|)$ with center z_2 and radius t . If $0 < \omega < \omega_0 \leq 1$ then

$$\frac{\gamma_{n+m}(A_\omega)}{\gamma_{n+m}(A_{\omega_0})} = \frac{\int_{B_n(z_1, \omega s)} \gamma_m(\tilde{B}(z_2, (s^2 - |x_1 - z_1|^2)^{\frac{1}{2}})) d\mathcal{L}^n(x_1)}{\int_{B_n(z_1, \omega_0 s)} \gamma_m(\tilde{B}(z_2, (s^2 - |x_1 - z_1|^2)^{\frac{1}{2}})) d\mathcal{L}^n(x_1)} \leq$$

$$\leq e^{-\frac{1}{2}(|z_1| - \omega_0 s)^2} + \frac{1}{2}(|z_1| + \omega_0 s)^2$$

$$\frac{\int_{B_n(z_1, \omega s)} \int_{\tilde{B}(z_2, (s^2 - |x_1 - z_1|^2)^{\frac{1}{2}})} e^{-\frac{1}{2}|x_2|^2} d\mathcal{L}^m(x_2) d\mathcal{L}^n(x_1)}{\int_{B_n(z_1, \omega_0 s)} \int_{\tilde{B}(z_2, (s^2 - |x_1 - z_1|^2)^{\frac{1}{2}})} e^{-\frac{1}{2}|x_2|^2} d\mathcal{L}^m(x_2) d\mathcal{L}^n(x_1)} =$$

$$= e^{2|z_1|\omega_0 s}$$

$$\frac{\int_{B_n(z_1, \omega s)} \int_{\tilde{B}(z_2, s)} (s^2 - |x_1 - z_1|^2)^{\frac{m}{2}} e^{-\frac{1}{2}|x_2|^2 + \frac{(s^2 - |x_1 - z_1|^2)^{\frac{1}{2}}}{s} (x_2 - z_2)^2} d\mathcal{L}^m(x_2) d\mathcal{L}^n(x_1)}{\int_{B_n(z_1, \omega_0 s)} \int_{\tilde{B}(z_2, s)} (s^2 - |x_1 - z_1|^2)^{\frac{m}{2}} e^{-\frac{1}{2}|x_2|^2 + \frac{(s^2 - |x_1 - z_1|^2)^{\frac{1}{2}}}{s} (x_2 - z_2)^2} d\mathcal{L}^m(x_2) d\mathcal{L}^n(x_1)}$$

$$\frac{\int_{B_n(z_1, \omega s)} \int_{\tilde{B}(z_2, s)} (s^2 - |x_1 - z_1|^2)^{\frac{m}{2}} e^{-\frac{1}{2}|x_2|^2 + \frac{(s^2 - |x_1 - z_1|^2)^{\frac{1}{2}}}{s} (x_2 - z_2)^2} d\mathcal{L}^m(x_2) d\mathcal{L}^n(x_1)}{\int_{B_n(z_1, \omega_0 s)} \int_{\tilde{B}(z_2, s)} (s^2 - |x_1 - z_1|^2)^{\frac{m}{2}} e^{-\frac{1}{2}|x_2|^2 + \frac{(s^2 - |x_1 - z_1|^2)^{\frac{1}{2}}}{s} (x_2 - z_2)^2} d\mathcal{L}^m(x_2) d\mathcal{L}^n(x_1)}$$

Since, for $0 \leq \tilde{s} \leq s$ and $x_2 \in \tilde{B}(z_2, s)$, it holds

$$||z_2 + \frac{\tilde{s}}{s}(x_2 - z_2)|^2 - |x_2|^2| \leq |x_2 - z_2| \frac{s-\tilde{s}}{s} (|z_2 + \frac{\tilde{s}}{s}(x_2 - z_2)| + |x_2|) \leq 2\tau(s-\tilde{s})(|z_2| + \tau s),$$

we obtain

$$\begin{aligned} \frac{\gamma_{n+m}^{(A_\omega)}}{\gamma_{n+m}^{(A_{\omega_0})}} &\leq e^{2|z_1|\omega_0 s + 2\tau(1-\omega_0)^{\frac{1}{2}}s(|z_2| + \tau s)} \\ &\frac{\int_{B_m(z_1, \omega s)} (s^2 - |x_1 - z_1|^2)^{\frac{m}{2}} \int_{\tilde{B}(z_2, s)} e^{-\frac{1}{2}|x_2|^2} d\mathcal{L}^m(x_2) d\mathcal{L}^n(x_1)}{\int_{B_m(z_1, \omega_0 s)} (s^2 - |x_1 - z_1|^2)^{\frac{m}{2}} \int_{\tilde{B}(z_2, s)} e^{-\frac{1}{2}|x_2|^2} d\mathcal{L}^m(x_2) d\mathcal{L}^n(x_1)} \leq \\ &\leq e^{2|z_1|\omega_0 s + 2\tau(1-(1-\omega_0^2)^{\frac{1}{2}})s(|z_2| + \tau s)} \frac{\int_0^\omega (1-t^2)^{\frac{m}{2}} t^{n-1} dt}{\int_0^{\omega_0} (1-t^2)^{\frac{m}{2}} t^{n-1} dt} \end{aligned}$$

Moreover,

$$\begin{aligned} \log \frac{(1-\omega^2)^{\frac{m}{2}} \omega^{n-1}}{(1-\omega_0^2)^{\frac{m}{2}} \omega_0^{n-1}} &= \frac{m}{2} \log \frac{1-\omega^2}{1-\omega_0^2} + \frac{n-1}{2} \log \frac{\omega^2}{\omega_0^2} \leq \frac{m}{2} \frac{\omega_0^2 - \omega^2}{1-\omega_0^2} + \\ &+ \frac{n-1}{2} \frac{\omega^2 - \omega_0^2}{\omega_0^2} = -n(1 - (\frac{\omega}{\omega_0})^2) \left(\frac{n-1}{2n} - \frac{m}{2n} \frac{\omega_0^2}{1-\omega_0^2} \right) \leq \\ &\leq -n(1 - (\frac{\omega}{\omega_0})^2) \left(\frac{1}{4} - \frac{q}{2} \frac{\omega_0^2}{1-\omega_0^2} \right). \end{aligned}$$

Hence, if ω_0 is sufficiently small and $\omega = \frac{1}{2}\omega_0$, we may use (1) with $t_0 = \omega_0$, $t_2 = 0$ to infer

$$\frac{\gamma_{n+m}^{(A_\omega)}}{\gamma_{n+m}^{(A_{\omega_0})}} \leq e^{\frac{3}{2}(\omega_0 + \tau(1-(1-\omega_0^2)^{\frac{1}{2}}))(\frac{1}{2} + \tau)n} \left(e^{\frac{1}{12}n} - 1 \right)^{-1}.$$

From this inequality we see that, to prove the assertion, it suffices to choose $\omega_0 > 0$ such that

$$\frac{1}{4} - \frac{q}{2} \frac{\omega_0^2}{1 - \omega_0^2} > \frac{1}{9} \text{ and } \frac{3}{2} (\omega_0 + \tau(1 - (1 - \omega_0^2)^{\frac{1}{2}}))(q^{\frac{1}{2}} + \tau) < \frac{1}{24}$$

and to put $\omega = \frac{1}{2} \omega_0$ and to find $c_2 > 0$ such that

$$\frac{e^{\frac{1}{24} n}}{e^{\frac{1}{12} n} - 1} \leq (e^{c_2 n} - 1)^{-1}.$$

Finally we show the following simple well-known estimate of Gaussian measure (see e.g. [Š]).

(4) There is $c_3 > 0$ such that

$$\gamma_n \{x \in \mathbb{R}^n; ||x| - n^{\frac{1}{2}}| \geq \alpha\} \leq \frac{c_3}{\alpha^2} \text{ and}$$

$$\gamma_n \{x \in \mathbb{R}^n; |\langle x, z \rangle| \geq \alpha\} \leq \frac{c_3}{\alpha^2}$$

for each natural number n , each $\alpha > 0$ and each $z \in \mathbb{R}^n$ with $|z| = 1$.

Proof. Follows from the Chebyshev inequality and from the fact that $\int (|x| - n^{\frac{1}{2}})^2 d\gamma_n(x)$ and $\int (\langle x, z \rangle)^2 d\gamma_n(x)$ are bounded by some absolute constant.

Now we shall construct the desired example.

Put $n_k = 10^k$ and choose $\epsilon > 0$ such that $2(\epsilon + \sum_{k=1}^{\infty} 10^{-k}) \leq \frac{1}{4}$. For $\tau = 10$ and $q = 11$ find ω and c_2 according to (3). Put $a = \omega \sqrt{\frac{6}{10}}$ and find s and $c_1 < \frac{1}{2}$ according to (2). Let k_0 be so large that $\frac{c_3}{(1-s)^2} \sum_{k=k_0}^{\infty} 10^{-k} < 1$.

Let $X = \prod_{k=k_0}^{\infty} \mathbb{R}^{n_k}$, $\gamma = \bigotimes_{k=k_0}^{\infty} \gamma_{n_k}$. Then $H = \{x \in X; \sum_{k=k_0}^{\infty} 10^{-2k} |x_k|^2 < \infty\}$ is a Hilbert space with the norm $\|x\| = \left(\sum_{k=k_0}^{\infty} 10^{-2k} |x_k|^2 \right)^{\frac{1}{2}}$ and $\gamma(H) = 1$ (see [G]).

If $z \in H$ and $r > 0$ denote

$$B_k(z, r) = \{x \in H; \sum_{p=k}^{\infty} 10^{-2p} |x_p - z_p|^2 \leq r^2\},$$

$$B^k(z, r) = \{x \in H; \sum_{p=k}^{\infty} 10^{-2p} |x_p - z_p|^2 \leq r^2\}, \text{ and}$$

$$B(z, r) = B^0(z, r).$$

Let $M = \{x \in H; |x_k| \leq \frac{1}{2} n_k^{\frac{1}{2}} \text{ for some } k \geq k_0\}$. Then, according to (4), $\gamma(M) \leq \sum_{k=k_0}^{\infty} \frac{c_3}{(1-s)^2 n_k} < 1$. We shall show that

$$\lim_{r \rightarrow 0^+} \frac{\gamma(M \cap B(z, r))}{\gamma(B(z, r))} = 1$$

for γ almost every $z \in H$.

Let $\varepsilon > 0$ such that $\varepsilon < \frac{1}{2} c_1$ and $4(2\varepsilon + \varepsilon^2) \sum_{p=1}^{\infty} 10^{-p} \leq \varepsilon$. Denote $\varepsilon_k = \max \left(\frac{2c_3}{\varepsilon^2} \sum_{p=k}^{\infty} 10^{-p}, (e^{c_1 n_k} - 1)^{-1}, (e^{c_2 n_k} - 1)^{-1} \right)$. If $E = \bigcup_{k=k_0}^{\infty} \{z \in H; (1-\varepsilon)n_p^{\frac{1}{2}} \leq |z_p| \leq (1+\varepsilon)n_p^{\frac{1}{2}} \text{ for all } p \geq k\}$ then $\gamma(E) = 1$ according to (4) and the Borel-Canteli lemma.

Let $z \in E$. There is $k_1 \geq k_0$ such that $(1 - \frac{1}{2} c_1)^2 n_k \leq |z_k|^2 \leq (1 + \frac{1}{2} c_1)^2 n_k$ for all $k \geq k_1$. Hence there is $k_2 > k_1$ such that

$$(5) \quad (1 - c_1)^2 \sum_{\substack{p=k_0 \\ p \neq k}}^{k+1} n_p \leq \sum_{\substack{p=k_0 \\ p \neq k}}^{k+1} |z_p|^2 \leq (1 + c_1)^2 \sum_{\substack{p=k_0 \\ p \neq k}}^{k+1} n_p$$

for all $k \geq k_2$. We may also assume that $\epsilon_{k_2} < 1$.

Let $r > 0$. If r is sufficiently small then

$$2\sigma 10^{-(k+1)} + 2 \sum_{p=k+2}^{\infty} 10^{-p} \leq r^2 \leq 2\sigma 10^{-k} + 2 \sum_{p=k+1}^{\infty} 10^{-p}$$

for some $k \geq k_2$. Put

$$r_{\alpha} = (r^2 - \alpha^2 \sigma 10^{-(k+1)})^{\frac{1}{2}} \text{ for } \alpha \in (0, 1),$$

$$r(x) = (r^2 - \sum_{p=k+2}^{\infty} 10^{-2p} |x_p - z_p|^2)^{\frac{1}{2}} \text{ for } x \in B^{k+2}(z, r),$$

$$a(x) = (\sum_{\substack{p=k_0 \\ p \neq k_0}}^{\infty} 10^{-2p} |x_p - z_p|^2)^{\frac{1}{2}}, \text{ and}$$

$$b(x) = (10^k (r^2 - a^2(x)))^{\frac{1}{2}} \text{ for } x \in H, a(x) \leq r.$$

First note that if $|x_p| \leq (1 + \epsilon) n_p^{\frac{1}{2}}$ and $|\langle x_p, z_p \rangle| \leq \epsilon n_p^{\frac{1}{2}} |z_p|$ for all $p \geq k+2$ then $\sum_{p=k+2}^{\infty} 10^{-2p} |x_p - z_p|^2 \leq 2 \sum_{p=k+2}^{\infty} 10^{-p} + 4(2\epsilon + \epsilon^2) \sum_{p=k+2}^{\infty} 10^{-p} \leq r^2 - \sigma 10^{-(k+1)} = r_1^2$.

Hence (4) implies

$$\gamma(X \setminus B^{k+2}(z, r_1)) \leq \frac{2c_3}{\epsilon^2} \sum_{p=k+2}^{\infty} 10^{-p} \leq \epsilon_{k+2}.$$

$$\begin{aligned} \text{Consequently, } \gamma(B(z, r)) &= \int_{B^{k+2}(z, r)} \gamma(B_{k+1}(z, r(x))) d\gamma(x) \leq \\ &\leq \int_{B^{k+2}(z, r_1)} \gamma(B_{k+1}(z, r(x))) d\gamma(x) + \gamma(X \setminus B^{k+2}(z, r_1)) \cdot \\ &\cdot \gamma(B_{k+1}(z, (\sigma 10^{-(k+1)})^{\frac{1}{2}})) \leq \int_{B^{k+2}(z, r_1)} \gamma(B_{k+1}(z, r(x))) d\gamma(x) + \\ &+ \frac{\epsilon_{k+2}}{1 - \epsilon_{k+2}} \gamma(B^{k+2}(z, r_1)) \cdot \gamma(B_{k+1}(z, (\sigma 10^{-(k+1)})^{\frac{1}{2}})) \leq \\ &\leq (1 + \frac{\epsilon_{k+2}}{1 - \epsilon_{k+2}}) \int_{B^{k+2}(z, r_1)} \gamma(B_{k+1}(z, r(x))) d\gamma(x) = \\ &= (1 - \epsilon_{k+2})^{-1} \gamma(B(z, r) \cap B^{k+2}(z, r_1)). \end{aligned}$$

If $m = \sum_{\substack{j=k_0 \\ j \neq k}}^{k+1} n_j$ then $n_k \leq m \leq qn_k$ and $r^2 \sum_{\substack{j=k_0 \\ j \neq k}}^{k+1} 10^{-2j+2k} |x_j|^2 \geq$

$\sum_{\substack{j=k_0 \\ j \neq k}}^{k+1} |x_j|^2$. Hence, according to (3) (its assumptions follow from (5)), $\gamma_{n_k+m} \{y \in \prod_{j=k_0}^{k+1} \mathbb{R}^{n_j}, \sum_{j=k_0}^{k+1} 10^{-2j+2k} |y_j - z_j|^2 \leq s^2,$

$|y_k - z_k| \leq \omega s\} \leq (e^{c2^{n_k}} - 1)^{-1} \gamma_{n_k+m} \{y \in \prod_{j=k_0}^{k+1} \mathbb{R}^{n_j},$

$\sum_{j=k_0}^{k+1} 10^{-2j+2k} |y_j - z_j|^2 \leq s^2\}$ for each $s \in (0, \frac{1}{2} n_k^{\frac{1}{2}})$. Since

$10^{2k} r^2(x) \leq 10^{2k} r^2 \leq \frac{1}{4} 10^k = (\frac{1}{2} n_k^{\frac{1}{2}})^2$ for $x \in B(z, r)$, it follows that

$\gamma \{y \in B_{k+1}(z, r(x)); |y_k - z_k| \leq 10^k \omega r(x)\} \leq \varepsilon_k \gamma(B_{k+1}(z, r(x)))$.

Moreover, for $x \in B(z, r) \cap B^{k+2}(z, r_1)$ we have $10^{-(k+1)} \omega \leq r^2(x)$. Hence,

$\gamma \{y \in B_{k+1}(z, r(x)); |y_k - z_k| \leq 10^k \omega (\omega 10^{-(k+1)})^{\frac{1}{2}}\} \leq$

$\leq \varepsilon_k \gamma(B_{k+1}(z, r(x)))$ and

$$\gamma(B(z, r) \cap B^{k+2}(z, r_1)) = \int_{B^{k+2}(z, r_1)} \gamma(B_{k+1}(z, r(x))) d\gamma(x) \leq$$

$$\leq (1 - \varepsilon_k)^{-1} \int_{B^{k+2}(z, r_1)} \gamma \{y \in B_{k+1}(z, r(x)); |y_k - z_k| \geq$$

$$\geq 10^k \omega (\omega 10^{-(k+1)})^{\frac{1}{2}}\} d\gamma(x) = (1 - \varepsilon_k)^{-1} \gamma \{x \in B(z, r); a(x) \leq$$

$$\leq r \omega\} = (1 - \varepsilon_k)^{-1} \int_{\{x \in H; a(x) \leq r \omega\}} \gamma \{y \in H; 10^{-2k} |y_k - z_k|^2 \leq$$

$$\leq r^2 - a^2(x)\} d\gamma(x) = (1 - \varepsilon_k)^{-1} \int_{\{x \in H; a(x) \leq r \omega\}} \gamma_{n_k}^{n_k}(K_{n_k}(z_k),$$

$$(b(x) n_k^{\frac{1}{2}})) d\gamma(x).$$

Since $b(x) \leq (10^k r \omega^2)^{\frac{1}{2}} \leq \frac{1}{2}$ and since $b(x) \geq (10^k (r^2 - r^2))^{\frac{1}{2}} =$

$$\begin{aligned}
&= \omega \sqrt{\frac{6}{10}} = a, \text{ we infer from (2) that} \\
&\int_{\{x \in H; a(x) \leq \kappa_\omega\}} \gamma_{n_k} (K_{n_k}(z_k, b(x) \frac{1}{n_k})) d\gamma(x) \leq \\
&\leq (1 - \varepsilon_k)^{-1} \int_{\{x \in H; a(x) \leq \kappa_\omega\}} \gamma_{n_k} (K_{n_k}(z_k, b(x) \frac{1}{n_k}) \cap \\
&\cap K_{n_k}(0, s n_k^{\frac{1}{2}})) d\gamma(x) \leq (1 - \varepsilon_k)^{-1} \gamma(B(z, r) \cap M).
\end{aligned}$$

Combining these estimates we obtain

$$\gamma(B(z, r) \cap M) \geq (1 - \varepsilon_{k+2})(1 - \varepsilon_k)^2 \gamma_{B(z, r)}.$$

If r is small then k is large, hence $\varepsilon_k, \varepsilon_{k+2}$ are small.

This implies that

$$\lim_{\kappa \rightarrow 0^+} \frac{\gamma(B(z, r) \cap M)}{\gamma(B(z, r))} = 1.$$

R e f e r e n c e s

- [B] BESICOVITCH A.S.: A general form of the covering principle and relative differentiation of additive functions, Proc. Cambridge Philos. Soc. 41(1945), 103-110.
- [F] FEDERER H.: Geometric measure theory, Springer-Verlag 1969.
- [G] GELFAND I.M., VILENKIN N.J.: Generalized functions 4, Moscow 1961.
- [MA] MATTILA P.: Differentiation of measures on uniform spaces, preprint.
- [M] MORSE A.P.: Perfect blankets, Trans. Amer. Math. Soc. 61(1947), 418-442.
- [P1] PREISS D.: Gaussian measures and covering theorems, Comment. Math. Univ. Carolinae 20(1979), 95-99.
- [P2] PREISS D.: Invalid Vitali theorems, Abstracta Seventh

Winter School on Abstract Analysis, MI ČSAV,
Praha 1979, 58-60.

[Š] ŠILOV G.E., TIN F.D.: Integral, mera i proizvodnaja na
linejnych prostranstvach, Nauka, Moscow 1967.

Matematicko-fyzikální fakulta

Universita Karlova

Sokolovská 83, 18600 Praha 8

Československo

(Oblatum 24.9. 1980)